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Chapter 9 Employee Benefits

Answer 1
(a)
	
	Obligation
	Assets
	Net (SOFP)
	Net (SOCI)

	
	$000
	$000
	$000
	$000

	2014 b/f
	20,000
	20,000
	-
	

	Net interest at 8%
	1,600
	1,600
	
	-

	Current service cost
	1,250
	
	
	1,250

	Past service cost
	1,000
	
	
	1,000

	Benefits paid
	(987)
	(987)
	
	

	Contribution paid in
	
	1,000
	
	

	
	22,863
	21,613
	
	

	Remeasurement losses
	137
	(113)
	
	250

	2014 c/f
	23,000
	21,500
	1,500
	

	
	
	
	
	

	2015 b/f
	23,000
	21,500
	
	

	Net interest at 9%
	2,070
	1,935
	
	135

	Current service cost
	1,430
	
	
	1,430

	Settlement
	(5,700)
	(5,400)
	
	

	Benefits paid
	(1,100)
	(1,100)
	
	

	Contributions paid in
	
	1,100
	
	

	
	19,700
	18,035
	
	

	Remeasurement losses
	700
	(195)
	
	895

	2015 c/f
	20,400
	17,840
	2,560
	


During 2014, there is an improvement in the future benefits available under the plan and as a result there is a past service cost of $1 million, being the increase in the present value of the obligation as a result of the change.
During 2015, ABC Co sells part of its operations and transfers the relevant part of the pension scheme to the purchaser. This is a settlement. The overall gain on settlement is calculated as:
	
	$000

	Present value of obligation settled
	5,700

	Fair value of plan assets transferred on settlement
	(5,400)

	Cash transferred on settlement
	(200)

	Gain
	100


(b)

Statement of financial position
	
	2014
	2015

	
	$000
	$000

	Net defined benefit liability
	1,500
	2,560


Statement of comprehensive income

	
	2014
	2015

	Profit or loss
	$000
	$000

	Current service cost
	1,250
	1,430

	Past service cost
	1,000
	-

	Gain on settlement
	-
	(100)

	Net interest
	-
	135

	
	
	

	Other comprehensive income
	
	

	Remeasurement loss on defined pension plan
	250
	895
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